Pre Calculus Foundations Math 10
End of Year Review—Chapter 2
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In short: sin A= [Q(D cos A= &cfk\ ctan A= Oﬂ!‘()
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To recall these trlgonometrlc ratlos qu1ck|y, remember the acronym:
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To solve for a missing angle: To solve for a missing length:
1. Identify the acute angle you are 1. Identify the acute angle you are
wanting to find. given.
2. Label the triangle from that angle. 2. Label the triangle from that angle.
'3. Identify the trig ratio to be used. 3. Identify the trig ratio to be used.
4. Set up your equation. 4. Set up your equation.
5. Solve. 5. Solve.
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9 Determine the angle of inclination of the line to the nearest tenth of a degree.
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a. 63.3° b. 24.2° c. 065.8° d. 26.7°

10. A guy wireis attached to a tower at a point thatis 5.5 m above the grouncL The angle between the wire and

the level ground is 56°. How far from the base of the tower is the wire anchored to the ground. to the nearest
tenth of a metre?

a. 3.1m b. 66m c. 37m d 82m
danS6 _C:EQ_ oS = 1 (BS)
cu:xS ~ :_éém
! =
@ =ss EerfSlo
a A= D3]

11. A ladder is 13.0 m long. It leans against a wall. The base of the ladder is 3.7 m from the wall. What is the
angle of inclinati on of the ladder to the nearest tenth of a degree?

a. 73.5° b. 16.5° c. 74.1° d. 15.\9o
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12. Solvet snght triangle. Give the measures to the nearest tenth. -
. o om | kenJeo gg L1L=150" -9 -2
H o W \) k L 03, L’ \
8.0cm ";CM’\\) Sl
opP o © T
) ol + h =c¢C
L) = \,u(\ ( ) s o2l
L e g "5 4 (;7 =
/)= a“.k 7
\i:)M;ZluL ««««« (L\O = J\,



Pre Calculus Foundations Math 10
~ End of Year Review—Chapter 2

13. Determine the length 0of QR to the nearest metre.
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14. Calculate the measure of ZGHJ to the nearest tenth of a degree. 1
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a. 715° b. 29.3°

15. From the top of an §0-fi. building, the angle of elevation of the top of a taller building is 49° and the angle of
depression of the base of this bmldmg is 62°. Determine the height of the taller buﬂdmg to the nearest foot.
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